Improvement Sequence of Traveling Cost for C1 Problem Instance

Plan: 1
Employed Bee: 50
Onlooker Bee: 10

Iterations: 75

Plan: 2
Employed Bee: 200
Onlooker Bee: 60
Iterations: 400

Plan: 3
Employed Bee: 600
Onlooker Bee: 200

Iterations: 1000

Iteration Number

Traveling cost

Iteration Number

Traveling cost

Iteration Number

Traveling cost

0 1512.428 0 1310.840 0 1590.457
22 1276.971 101 1043.404 25 1324.913
41 609.443 167 927.165 79 1269.401
267 903.473 417 606.063
311 592.004 688 567.047




